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pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the question paper.

2. Please check the question paper to verify that the total pages and total number of questions contained
in the booklet are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the
specified places will lead to disqualification of the candidate.
4. Write your Question Booklet Code No. 34/ISS/2, Set on the answer-book.
5. (a) The question paper is in English/Hindi medium only. However, if you wish, you can answer in
any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)
Srates (Frgra)

(314)
Time : 3 Hours | [ Maximum Marks : 80
T ;3 0 | [ qUriss : 80
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i) Al questions from Section ‘A’ are to be attempted.
(iii) Section ‘B’ has got more than one option. Candidates are required to
attempt questions from one option only.
fewr: () 39 9W-19 9 Sl @ E—@vg ¥ qur wue T |
(i) W@ ‘e % |t I B TA FEAT R
(il) @ve ‘T HuF W Al fawey 2| wWenfda # Fact v faewew & € uvEl & IW A T

SECTION-A
Ques-A

1. Rewrite the following statement correctly : 1

“Viruses possess nucleic acids and can reproduce on their own.”

= feu Tu e @ wE ek g e
VargEl (faumupet) # SyEclisE o7 Bd € MR F W S # udd 2l

2. Name the two substances particularly synthesised in the G, stage of the
interphase in cell cycle. 1

3 &t verell o A Tt e w1 = & 3ehs A G e 7 Ry a o Hyero g 2 |

3. Mention the two major deficiency symptoms in plants due to lack of
magnesium. 1

it & s1vrE § Wl § Yee g ATl &t g SATEsa aav fota |

4. What is the role of sodium bicarbonate content of the bile juice? 1

fire T 3 W AT S A qfE a3
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5. A child has been born with 22 + XO chromosomal abnormality. Name the
genetic disorder and mention the sex of the child. 1

TS S T SPH BT 2 TTEE 22 + XO T (RHIEIEe ) SRRl § | 39 SR G & AW
AT = B TorT a1 |

6. Name any two international agencies concerned with family planning and
family welfare. 1

Qﬁaﬁﬁaﬁmawuﬁaﬂwﬁﬁfﬁaﬁ%ﬁﬁmwwaﬁ%w%‘@m

7. Starting from organism (individual), write in proper sequence the next three
levels of organisation in the living world. 1

St (=af8) | Ty ek, |sid gid § 91e S aret 3Tel o HeedT Rl o A TE-uE w0 0
fetfiam |

8. What is Red Data Book? ' 1
1 T g F71 27

9. Name the two types of endocytosis and explain how they differ from each other
in action. 2

A HITTRAT (TSIATEd) & &t GhRi o A it aen 37 <=1 6t franfafer @ sta smm
10. Given below is a diagram of the wings of three organisms :

= fou q s i\ el % ot w6 e g

(a) Name the respective class of the organisms possessing each of the types of
wings A, B and C.

(b) Which two or more are homologous organs and which ones are
analogous? 2

(F) A, BAI CYHR & Y@ It Siial o A9-3197 werrd ol 419 ferfiy |
(@) T 9 FH-8 A1 s qESTd 37§ 991 HH-FE-H qEght o E7
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11.

12.

13.

14.

15.

16.

Name and differentiate between the two types of our bone tissue with respect to
the arrangement of bone cells in it.

TR IR 910 ST a1 317 Sdek & o Tl o AW ffae ug 3ae fiae 21fey wifdrmiet 6
ST § 37 Fargy |

Mention any two characteristics of meristematic tissue. Name the type of
meristematic tissue located at the root tip and give its function.

favrsaraes i g ot fafreand fafae | gemr @ are S AT fassaias & yer @1 am fafae aon
IHH FE FIqEY |

Differentiate between dicot plants and monocot plants with regard to the
number and arrangement of vascular bundles in the stem.

TR o fiat Geet el hl O Ue SHae & e 1 feafisrast qen usheisrost qvei § 37dt siareu |

Define assimilation. Describe briefly the assimilation of amino acids absorbed
from the digested food in humans.

wrfieRtor 31 afedTe farfaw | war | fafau fo wai § o= g WISk | TaRiivd g uHiE! sl
fore W wamfieRTor g 2|

Taking the example of flower colour in garden pea, differentiate between the
terms ‘homozygous’ and ‘heterozygous’ as used in genetics.

I WU H B o TT T ISTE R, AARTRN § 39 fohT ST arel wwgeft’ qen fasmgrdt’
weal # favg Hifg |

A pure white (European) man marries a pure black (African) woman.

(a¢)  What shall be the skin colour of their children?

(b) What shall be the range of colours in their second generation?

(c) How many genes are involved in such inheritance and what special term
do you use for it?

U G vad (FTTEH) gEY F foam UE Y@ el (Iw) J " ga|
(%) IFhRT AT Sl T T T 9T B
(@) 3! |l it § w1 e

(1) 3H IFR Fi Fmmid 7 fhad St e d € 2R 3 T -l v fafvw seeractt @
IYAI BT 27
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17. The scheme given below is an incorrect and incomplete representation of a
principle in protein synthesis :

DNA Translation 2 Transcription s Proteins

(@) Rewrite the scheme correctly and fill up the blank (?) space.

(b) What is the first step which the DNA undergoes to start the process?
Name the enzyme involved in it. 2

e & it Ase § O v % uw faara @l st o Wiy @ 3w e off famn
TI'HT%:

DNA Translation s 2 Transcription s Proteins

(%) 39 A1 R GE w9 ° fafae qun fow wam (7) $gfd o il

(@) ufsar 1 AR B1d & DNA W 8 STl Iied o1 G Ugel =27 31 37 sareg & 3o
FHIH-HT TSTEH HE T ¢ |

18. Define pollution. What is the harmful effect of the pollutant gases grouped as
CFCs (Chlorofluorocarbons)? 2

TguT <l TR fAfaw | CRCs (T 3tiRiehte=a ) 3 ehl Sk T a1 BTfert T9Ta T gt & ¢

19. Starting with the first point of overproduction of offsprings, list the points
which Darwin had stated under his theory of Natural Selection in favour of
organic evolution. 3

Ha 1 sifazcts & gl fog @ e ok forfiau foe et 3 Sifores s fosrme & e § wiefas
T % A9 T H F- f6g W |

20. Discuss the significance of meiosis with reference to—
(a) maintaining the chromosome number of the species;
(b) creating new combinations of genetic features. 3
ffetfiaa & dad 7 srdgpo (dnfaw) & weea @1 fae=m Fifsm
(%) wfefis 1 wHEm GE H HEE T @G
(@) AR AT F A HASH AT
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21.

22.

23.

24.

25.

Given below is one of the chemical reactions occurring during photosynthesis :
ADP +Pi —SST&Y_, ATP

(a) Write the full forms of the chemical components in this reaction.

(b)  Give the technical term for the overall process indicated in the reaction as
well as its meaning.

(c) In which part of chloroplast—grana or stroma, does the above reaction
occur?

TERIT-HIATYT & N B arelt vaafie afufwaret # @ ww srfufgwn e @ owi R
ADP +Pi —S2&Y , ATP
(%) =\ Atafrn & avfi TomEfE wed & Q- T fofee |
(@) =z srfifean § gt feme sarh wh ik w6 Seftee A faftan o are & zae o of
REEIERY
(M) =E i sl % forg 9 steEr 2 H et 27

Name the chief nitrogenous wastes excreted out by bony fish, mammals and
birds respectively. How do they differ in (a) toxicity and (b) solubility in water?
srfedrer weforat, Tafm qen afermi # Icafsia oy ST aTet 2109 - 370 e ATge s STaierel & A
ferftan | & srafte eraft () anferegat qen (b) sier # forcrrar 3 v -gm A v yerr firs 2 37

Name the plant and the plant part that gives out what are called sulphur
showers. Why are these showers named so? Name the constituents of these
showers and mention any one of their structural peculiarity.

3G e 3 N o 37 A R AT TR S e yaE are Siedl ¢ | 39 yad A9t giE i 3w
YRR 1 AT F fean wen? v gfeEi & et % A fafae @ s w1 ve g fafiear
Faru |

A couple has normal vision but they have given birth to a colourblind son. How
could it happen? Explain. .

T Il kI A 8} g e Uk A A SR T S auity (Tre) o TEr R gE B,
HHLATRT |

What is placenta? Discuss very briefly its nature as a barrier. Name any one
disease whose pathogen can pass through it to reach the foetus.

3 FohH hEd 87 U STERlY o B H THeh! Wbl T agd Hard | fadem it | ol ueR 1w AW
FaTEy, fSraeRT TSHE 300 § TSR 40T T J59 9l ¢ |
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26. (a) Name the type of population growth curve of a species when introduced
into a new favourable environment.

(b) What do the first two phases of this curve indicate and what do you call
them respectively? 3

() = oft Tt wfiefist &1 v Ju e w@iewr § yaw w0 fen S R, @ ud anty
(SFE) < gfg a% % YR @1 AW fafa |

(@) 9 g% I ggelt o ITawed T St 8 R 3 Uraeensd ol w-san AW fe s 27

27. Draw a diagram of the vertical section of a hen’s egg without showing the
details of the central sphere. Label any seven parts in it. 4

Tt o 3102 o 3T 9T 1 R ST ok e e Tt SRt awEicl 7 fearh e g | e TR
T 9T T AHIEA i1 |
28. (a) Can we call a city park a forest? Give reason in support of your answer.
(b) How do forests help in (i) preventing soil erosion and (ii) bringing rains? 4
(%) 1 W TRt TR-UTh 1 97 FE Tehd B¢ 3 Ik THT H HUT A1
(@) =93 < FE § 9 THR Te™ar Fd o (i) GET TG Bl THAT qAT (1) T e

29. Identify the following two conditions in the floral formulae, name the plant
family concerned and select the respective plant examples from the given ones

for each condition : ' 5
@ Ay
(b) K2+2

Examples : Shoeflower ; Gram ; Cauliflower ; Mustard ; Hollyhock ; Pea.

f= & S @ g A @ el w ggEie, 9 HalE 9y Fo (BEel) w1 oAm
fafaw qon o fow s @ 9ey ISl ¥ ¥y eun % fow wd-weE 3ew g

(=) Ag)+1
(@) K 2+2

ISR : T[S ; oA Mt W Eides ([OUE) ; 7

30. Name the parts of the internal ear and the manner of their working in
maintenance of our body equilibrium. 5

TR YRR o e ol ST T 8 T8 31 arel ¥fiadl &1 o 91 o =19 ferfaw qen sz {6 9 o
e F H 3
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31.

32.

33.

34.

35.

SECTION—B
g

OPTION—I
[Ecace s
( Tools and Techniques in Biology )
( Sfrafasm # o= T qadies )
Name any two plants usually grown in laboratory aquaria.

AT WA | HE=IG: 3T S 91l foheel ar aret o 9w foffgu)

What for a centrifuge is used in biology laboratory?

Sfrafesm warmemen # SRws form wm % fow su R s 27

Define preservative and select the preservatives from the following :

Bouin’s fluid ; Acetocarmine ; Benedict solution ; Carnoy fluid.
ufers At i fafge qon f= few oAt 9 9 wfess g

AT FES ; VHIIHHH ; SAfeae 9 ; HiAE FEe |
Briefly describe the method of procuring hydra for laboratory culture.

TR H g1Eg] &% a€d o o 38 wiw e it [3fer o6 e 9 aoiq fifs

How does a compound microscope differ from an electron microscope
pertaining to the following?

(a) Nature of objective lens

(b)  Source of illumination

(c) Extent of magnification

(d) Resolution power

T WIEHIERT T goideq Aehiehy § ffofad & wed § o ot 27
(F) eATesifaca =g 1 TFHd

(@) wEH-gid

(1) sTgda-wm

(7) fomse (Riqqee) sman
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OPTION—II
frea—I1

( Economic Biology )

( aterer SAfaehT )

31. What is line as a part of one of the fishing equipment? i

ATAT Uehed o 3TN | § TS FHal S arell U TN 47 Blal 27

32. Which are the two major nutrient components of hen’s egg next to water? 1

it % 210 § gt % e N qEA I G2 1 o

33. Name and briefly describe the first step in mushroom culture. 2

e (GHY) TaEA % Yo 9wl 1 AW fafae qon 3w g8 g qui i

34. Differentiate between the following with regard to what is given within
brackets : 2

(@) Seed lac and shellac (preparing method)

(b) Nectar and honey (chemical composition)

FgR &k 9 A G S @ e & fovm § 9 e e geref # e sy
(%) U1 LT QAT Teeh-aTedl (S < fafen)

(@) weRte a1 Hy (Yee) (VErie |ere)

35. What is Green Revolution? Mention any three principal factors which have
helped in bringing about the Green Revolution. 4

Bita shifa fopel e 27 formell ot g el o1 3@ s e efta wifd o & e i 21
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31.

32.

33.

34.

35.

OPTION—III
feRea—111

( Health Sciences )

( Tameen fagma )

A child is growing with bow (bent) legs. Name the disease and mention one
main mineral nutrient deficiency responsible for it.

T F5d U S H G (STE ! Feht) 200 21 T8 & | 36 U 1 AT TSy qo7 39k fore, Jeand
T G 9 &1 e | ARy

Is it correct to say that DPT vaccination develops immunity against Diphtheria,
Pneumonia and Tuberculosis? If wrong, correct the statement.

T 98 a1 9el § 6 DPT Frerreor @ fewefifian, e qon srmm & foru ufawen fasfod g1 st
27 afe Tetd B, A1 39 HUA HI Gl Hife |

List the four general advantages of physical exercise.

IR M % R A AT R, el a e

Write the full name of the disease AIDS and its pathogen. Name the test to
identify AIDS.

AIDS 3R 30 IS &1 -0 48 fIfa | AIDS 3 8= 3 e aret Ti1av1 31 7 fafiag |

Describe briefly any four factors which lead people to drug addiction.

T Tl = St o1 G989 § guiq hifsw, S8 @ e gerl & et 8 S 2
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OPTION—IV
ferered—1v
( Emerging Areas in Biology )
( feret 3w v )

31. What does the stem part of the antibody structure consist of ? 1

UaTel ohl GeHT § 3Heh TR I {oRerehT SI|T BraT 87

32. Why is chemical energy the most suitable form of energy in the living beings? 1

Tttt & offex TErfie e gaffis 3w e @ 27

33. Differentiate between somatic gene therapy and germ line gene therapy. 2

SHifEren s faferear qen s wweg st faferean 8 fade fifso

34. Define antibiotics. Mention the two main drawbacks in the use of antibiotics. 2

Udtamafeam 1 afeam forfa | Temenfess < 3w 0 2 g wiEt @ 27

35. What are transgenics? List any three ways in which transgenic organisms may
be useful. 4

ST foe hed 87 qRsiHl Sia e e 39t 8 wehd 8, Wi @i dieh Sarey |

* ok A
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